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Name: Full Book Test For Official Use Only
Roll No. Marks Obtained:

10™" Mathematics Science |
Section: Sign.:
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Four possible options as A, B, C and D are given for each statement. The option which you 01
think is correct, tick (v') that option in front of that question & Fill Bubble.
£
D C B A = Uy Y
#

-U.?iﬂ:’f& \/3.7C+18 ..:.A;L-«-‘Lfijfr

x=6 xX=-3 X=0,x= -3 x=3 The radical equation \/3x +18 has 1
solution set:

Sl ’ — & —Uehb
(V3] | (avE) | feE | eE) e | 2

of x2+2x—2:0 1S:

f“(" - b
2 2 2 | 2 11 a p \5/,\ : < oS AL 3
a —p a +p a B %% Z 1s a symmetric function.
2 > 2 N OU , gl -]
1-”._0)’ —W “1!_035(0 ""'1-; W, —® < 4{\ \\c—{; , =) o o ’ 4
N\ </ Cube roots of '—1"' are:
4( (fr W 4 S K
3 ) 123V~ 4 - FlRa |
R b 3 Third proportional of 4,12 is:
/\fg\(jy . : a G =
) < .—."_.:»f’_,:;’?)’yz —i= ]
~\ O b d
a—b c—d ad AN a C a C 6
= — ~A N\ N = = d C
b d bc ~ gﬁ a-b c—d at+b c+d If —=—, then componendo property
e b b d
Q}’ 1S:
None Jes o ¥ Sr edider | -
JE S meter kg Kelvin The unit of ratio 1s:
R - 2 |
S § f" ety Aty X i
(x+1)(x-1)
AX+_B+ C (i A i B L A Bx+C A 8 B - 8
(x+1) x-1 x+1 x-1 x+l  x-1 x+1 x-1 <211
Partial fractions of are of
(x +1)(x—1)
the form:

> > > ) U.?d/;’é—'z'ﬂiﬁ .7C3 +1
(x—-Dx" —x+1D | +D(x"—x-1) | (x+D(x" —x+1) | (x+D(x" +x+1) '

oA 3
Multiplication factors for X~ +1 are:

R N P 0, gnE=! 10

ONQ'="

:.:;.l:'!fu:é; (—1, 4) L5
IV 111 11 | 11
Point (—1, 4) lies in the quadrant:

Eoiwl {1, 2 3,4,...}

;!ﬁl(};ﬁ :lﬁh}"{ J’ﬁ’(}? J’ﬁl)/a" _ 12
Natural numbers Whole numbers Real numbers Prime numbers {1’ 2,3,4, } isasetof ___
numbers.

None KUs s e KU, e oo 25 4Y 13

Circles Rectangles Squares A histogram is a set of adjacent:
“ | 5 SUss e 2o
All 2 713 Y F 4 A frequency polygon is a many sided: | 14
Circle Rectangle Closed Figure
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) = Jvtan O = \/§ S
30” 60” 45° 90° 15
If tanez»\/?; then O =
e 1 1 I D
¥ > — — ~cosecd5’ = 16
2 V2 i Xp 2
3600 1200’ 630’ 360 20" = 17
/g,}‘ )//- > i, L + u}LJ/MJ‘thKL;JL%_EI;
; ; : Right bisector of the chord of a circle 18
Diameter Centre Circumference Radius
always passes through the:
360° 270° 180° 90° e —mnt 19
A complete circle is divided into :
:..:;.Mlﬁcééi.//:w;ﬂ
O AL, A £ The symbol for a triangle 1s denoted 20
by:
:’E!J’E!;:.J;w./ic)fﬂl ur!uuﬁ,};u(;}l:
s /13 253 LI e s - e e bl
: . . . Circumference of a : : 21
Segment of a circle | Diameter of a circle | Sector of a circle . The circular region bounded by two
cireie radit and the corresponding arc is
called:
e by ST PR iDL s
360° 270)° 180° 9()° The semi circumference and the | 99
diameter of a circle both subtend a
central angle of:
et & L 1, L 15U B Lt L
Kot Ug: ug; 1 e 23
Three Times Two Times One Time The length of the diameter of a circle
1S how many times the radius of the
AN\ | circle?
i i X2 i Supib s Lo B
All g E ) @ The measure of the external angles of 24
) (\3@\\‘\\0 a regular octagon 1is:
RS D) } - - .
/(T/S&\\) e A2 L el O’// J s e _{!
2k Sl J"L?‘ﬁi\ﬂf (& J _utdse 7| 25
Perpendicular Parallel Incqgg’;g Congruent The arcs opposite to incongruent
{(C)> central angles of a circle arc always:
JTO0
AN
Y
(Part —II i34 Kias)
S0 Write short answers of any 30 parts of the following: :2'.:.4,1;«: L angEe S 2
X“+4x-9=0 :“épl"‘ﬁ.fﬁflpm;rfKu”u/f?“éf/m:u (1
Without solving, find the sum and product of the roots of the equation: X*+4x -9=0
. . . 2X+]1 x-2 2
Using quadratic formula, solve the equation: =) ;f L Us 55z 21k (
x+2 x+4
. 2 3 : 3 3
Solve the equation: (2x° +1)+ ——=4 2x"+)+——=4 :;éd"f;,uu
2x° +1 2x°+1
Evaluate: (9+4m+4®°)’ 9O+4m+40°) ;’Tr,hf_u,g (4
If a,Bare the roots of the equation 4x°-3x+6=0, then P Un S £ Ax2—3x+6=0 =il o,p /] (5
find: &+ P @ P
b « B «
Find h, if the roots of the equation h Ix3i63 50w x? ~hx +10=0 =il fi | (O
x” —hx +10 =0 differ by 3. _éf.,b/&gg
Find the value of p, if the ratios 2p+5:3p+4and 3:4are | 3:4 ,,2p+5:3p+4 uf"ﬁ_;ér,bf;«,g&p (7
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equal. Ul
If x and yvaries directly, and x =27 when y=4. Find | Sy y=4 <2 x =27 slny# 2 U yux S| @
the value of y when x =3 _;/:x:?).,_.e;a;:(:b’ag’
2 2 .., 9
Resolve 1nto partial fractions: X T 72X 1l X T 72X 11 “é J.:V ui'm’/ SIVA (
(x+2)(x+3) (x+2)(x+3)
. . . 3x+7 3x +7 > (10
Resolve into partial fractions: A ol v
d (x+3)(x> +4) (x+3)(x2+4) = S o
? + ! < 11
Resolve 1nto partial fractions: 2 - i X3 i :é J:V e U / SIVA (
X 1 X - -
If A=Nand B=W, then find the value of B—A . E eI IB-AIB=W s A=N| (12
If Y={-2,12}, then make two binary relations for YxY | -&" Wud€nd ZYXY InY={-212} /i 13
. Also find their domain and range. ey f W2 T S
If X={ab,cland Y={d,e}, then find the number of SusaLusrd 3Y ={d,e} s X={ab,c}/ (14
elements in Y xX. Y x X ;ér,hfj,;
Define a subset and give one example. e LimgE oy Flery | U3
St Sl 6 etz Sz Sionr | (16
Find the modal size of shoe for the following data: Y e Rl
4,4,5,5,6,6,6,7,7,5,7.5,8,8,8,6,5,6,5,7 NG SO
4,4,5,5,6,6,6,7,7,5,7.5,8,8,8,6,5,6,5,7
For the following data find the Harmonic mean. _.g’_:r}’/»,al,@’i'(? “i Lol S5 o0 (17
All2[5[8]4 (X [12]5]8[4]
Write three properties of Arithmetic mean. A\ & f e Sl (18
. =
Find ¢, when: 6=180°,r =4.9cm /) T 8=180°,r=4.9cm B (19
Find without using table or calculator: cos540° ad \/:{W © cos540° :”ér}*’._ug’, ﬂédw /.:';@’: Jrx (20
In which quadrant 6 lie when: cos6<0, tan6 i? \/g‘/\Q cos0<0, tan0<0 LExw A 0 1) (21
y 2
f"’“*\ b b 3 S /
What is radian measure of the central an { an arc | 7 /< /<25 U181 4 50 3L Sus 4 &1 (22
50m long on the circle of radius 25m?)§ O sk Z,,;;U s
Define reciprocal equation and g@‘éﬁ example. _Em s Ll "é,g /7 J S, oo | (23
Define symmetric functlonq W‘ EwSSeS | (24
Define acute angle. E oy e | (2D
Define joint variation. S sl p\ e P S (26
Draw circles which touches both the arms of angles (1) Und o uisfgui::aiuz:liia,;ﬁéﬂ: (27
45° (ii) 60° 60° (ii) 45° (i)
Circumscribe a circle about an equilateral triangle ABC | #& U1 w2& kel 26 € ABC &d™ ot Gol» (28
with each side of length 4cm. 4 Jus qu
The length of each side of a regular octagon 1s 3cm. ; : %4 o (29
Measure its perimeter. AL e ("3 dUJé" LJ” AU
(30

Draw two common tangents to two touching circles of
radi1 2.5¢cm and 3.5cm.

dl_u,?f 3.5 J)l( 2.5 u’iuéujfl;i_ﬁz_/u/ﬂ
_érJVJP})L
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Full Book Test

Objective Paper Code . :
7860 (&) ol L

*** 154 e20:25; F
.
11 ABCD |4 ®B®OCO |7| ®®OCO |10 ®B®OD 13| PB®OD
2| WBOD |5 ®PE®OCD |8 PEOD |11 ®PBOD (14| ®PBOD
3| P®OD |6| ®B®OD |9 ®BOD (12| ®EOD (15| ®BOD

A e J\ Ao 380 b L 2o ne s\ Ly 14 38812-pt L& s D CB A2 4 L1y LA
" 7 Iy
£y, 3 Y 9. h e sy? J /. .{i/ @KL.L/ {,/ Ussosl sk Ly
D C B A Questions | Uiy J?‘/f;
b 2 —_ — o
The solution set of equation 4x° —16=0 is:
Nwd[f Jg’t (}?/{ J‘!’L/{ ..ujujuz: 4x* —5x +2 =0 = lsl» ,
t?llézeo Rational Imaginary [rrational | Roots of the equation 4x”>—5x +2=0 are:
2 L. —e sz’ + P
o+ (0 +B) —20B Sl = (12—[32 A T-s p 3
o P o +[71s equal to:
"ﬁ(d/ il u’«‘?/’ u,ib/; y :uELU?(c;:ibui'a:b::c:d_/E' 4
None of Fourth p\]
. Extremes Means In a prop@rtion a:b::c:d, b and ¢ are called:
these Proportional CI;%? oz
] >/ - e
X XYV vy Xy g ~\C e W B U Xy I VIW 5
vy X v f “%fourth proportional w of x:y::v:wis:
* I . R
Sl : S c%\;v‘ < w8t FS S S S
h“a«L V’ o (;7@, ¢ 6
A Proper A Tanide An Improper f*-"'g\%n A fraction in which the degree of numerator 1s less
Fraction J Fraction,s\i‘) -Q\Equation than the degree of the denominator 1s called:
AN N
AL N - v o s .
‘ /\i@ :g.dyz:lﬂd/u:?./l’h_éud:d./ug/&af
4 3 q\}y\f 2 1 The different number of ways to describe a set | 7
| are:
(9} (0.(a}} fa : St I

Power set of an empty set 1s:

AT 5> Yl F s e SUsMEE o 250 g

Circle Rectangle C}osed A frequency polygon 1s a many sided:
Figure
None ,wL/C"' o o) _g_t‘yz)!,c!/“la,é_/gf“i Lesi3Lo 10
Origin Ratio Value Mean 1s affected by change 1n:
tan 0 0 1 =1 cosec’0—cot” 0 = 11
/45 // » s, | | & u:fd.;// .’J.t‘I..ez"l:du:f oL s 0
. o . Right bisector of the chord of a circle always
Diameter Centre Circumference Radius
passes through the:
}(/ p /3 55'1!25 el Sk ld 28 Fa L] 13
Centre Diameter Chord Secant A circle has only one:
g fjl,}dﬂ//(hfﬂ L s
360" 270° 180° 90" The semi circumference and the diameter of a | 14
circle both subtend a central angle of:
. . . :é@mﬁ Jaﬂ_;l)g};/‘;.ﬁu’wu{l
All 6 N 3 The measure of the external angle of a regular 15

hexagon 1s:
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Full Book Test

GEz) o L
60 :/Sf  &2:10 13

( Part—1I  J3 ~aa)
12 Solve any SIX parts. ESindee 3
“é Sa Ju:-fl:l/‘ SRl &J e rJG d,z.lfv JJ/;*.ML/‘

Write the quadratic equation in the standard form , (1)
and point out pure quadratic equation: 8 ;4 ; -

Solve the equation using quadratic formula: 3x*+8x+2=0 é e S s S5 5sss (11)
Define reciprocal equation and give an example. e LimEE P Sl (i)
Evaluate: (1-o—®")’ (1—-o—*)’ ;L’: (:1’” =d  (iv)
ik g, el O . 0 DN T g i B e
({+m)X"+(m+n)x+n—/,=0 (C+m)x” +(m+n)x +n—(=0

Write quadratic equation having roots: 3++/2,3—+/2 Un3+42,3-2 Pl et Gs (Vi)
If 3(4x -5y)=2x-Ty, find the ratiox : y . _“é,’:b”x:yaej;:3(4x—5y)=2X—7y/7 (vil)
If y varies inversely as x and y=7when x=2, find y ,,ér}” yswx=22y=7 ﬂ'ﬁd’é‘/;u: X nly i (viii)

when x =126 wx=126 .2

Find the values of the letter involved in the given

continued proportion: 5,p,45 WA Sp -{—h.-““lfJ'V J5,p,45 (1x)

12 Solve any SIX parts. 4 ES ZFe 3
5x + 4 X \9)\ 5% +4 *
Resolve 1nto partial fractions: ©\/ - SE e s S e (i)
xX—4)(xX+2) A\ S (x—4)(xX+2)
What are partial fractions? @ *’uﬂjrbﬁ/ IV (11)
8
If X =Set of prime numbers less than or equal nd 12 & X=2obeusssld o = 17 23105 S i
Y =Set of first 12 natural numbers, then f1n .. Y UXTY = b PR
If X={2,4,6,..,20}and Y ={4,81 \é@\ then find: ¢Y={4,812,..24} .1X={24,6,..,20} /i (iv)
1v
X-Y ﬁ S XY
| > BxA s AxB ¥ B={2,5} »sA={1,2,3} ]
If A={1,2,3}and B={2,5}, then find AxBand BxA. (V)
Define one-one function. -"é_ég /7 d/ SO (vi)

82,93,86,92,79 -= # sbsd Lun i iAo i MLt L Uy 2ol LU
On 5 term tests in Mathematics, a student has made marks of 82, 93, 86, 92 and 79. Find the median for (V1))
the marks.

Find the modal size of shoe for the following data: [ # 0l =2 sl U ﬁl-lrf/ b el Suizoly S5 o su

(vii1)
4,4,5,3,6,6,6,7,7,5,1.5,8,8,8,6,5,6,3,7 4,4,5,5,6,6,6,7,7,5,7.5,8,8,8,6,5,6,5,7: %
Find arithmetic mean by direct method for the :Hér,l’fmidp%lrjj,;mfa,;@g AP b (1X)
given set of data: 200,225,350,375,270,320,290 200,225,350,375,270,320,290
12 Solve any SIX parts. ES a3
Express the sexagesimal measure of angle in decimal AN 2121 S sl L AU LBl Q)
i

fOI‘m: 60°30°30 60030]'30”
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Find r, when: (=52cm,0=45° (=52cm,0=45° : ,ﬁg’;/r W (ii)
Simplify the given expression to a single trigonometric e . )
oo tanx — A pJeeF LS4~ (i)
SCC X

- 2335 A BUTL 6 LB B
Find the angle of elevation of the sun if a 6 feet man casts a 3.5 feet shadow.
Define acute angle. E IS e W)
Define tangent. Cesl e g (Vi)
Detine sector. Sy et/ /-‘..; (vi1)
Define and draw the escribed circle. _é.ufjjlﬂ/._;q ¥ oo b (vii)
The length of each side of a regular octagon 1s 3cm. ] é( o i (a3 g y § Cf"’ - u;, (1,/ O 6

Measure its perimeter.
(e Ui)

-96)09/:2J1r..u3/:}08idlrﬁ_édiaﬂlrfagf (= 94 PUP-LN

Part — II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 1s compulsory.

Solve the equation:
oL+ B,l —l—l :é_.t::aljbv‘d:..ujﬂi.ﬁejju}fujﬂi 2x° —3x=5=0 sl a,B /7
o
04 If o,Bare the roots of the equation 2x*—3x-5=0, form quadratic equation having roots (o
o+ 3, : : :
a P
N i
X = o ﬁgé:(ﬁf&g&x_;\z@(g\é nd S esd S de
V—Z X 4 — D
04 O\ O () -6
Using theorem of componendo-dividendo find é@&e of 2 Ay _B¥os Jf x = i
/8)‘” e Xx+3y x-3z y—7Z
L -
04 Resolve into partial tfractions: : Q\g\% : S Héﬁv Su Gz ()
(x 1)g:36@1\> (x+D(x +1)
S )
A A »#B=1{1,4,7,10} <A ={1,3,5,7,9 Ji
o4 If A=1{1,3,5,7,9}, S ﬁ\ga,,mo} and (’j‘:; } { ) }
U={1,2,3,4,...,10}, then Velify B-A=BAA" =0 /B-A=BNA"J»U={1234..10; () 7
et hstmiAn /St FLLuF bz
The marks of six students in Mathematics are as Ay
follows. Determine Variance and Standard e e
04 deviation. b ()
StudentNo.| 1 [ 2] 3[4 ] 5] 6 (b123456
Marks 60|70 30 (90| 80 |42 ‘
JA160 17013019080 |42
_,“é,':b"afd/cosecem secercotertanﬂ?ﬁcos():ﬁm sin(':):_—3/fl
4 4
04 -3 ﬁ () 8
If sinO= ry and cos0 = p then find the values of tan0 , cot®, sec® and cosecH.
Inscribe a circle 1n a triangle ABC with sides BCAB Lust £t S 2 & tiodls 15" § AABC
04 ‘AB‘ =5cm, BC‘ =3cm, CA‘ =3cm . Also measure Ji/’f_dﬁ(3 ),1(3 ;(5 _gﬁtugu JC_A ol (___,)
1ts 1n-radius. i “é , oyt K
03 _c.:.'_t'ﬁmja:fdrjljuf‘;c':o/:-‘/u’;:&'?ggu’:;l,@'fﬂ}d//‘Ubic;a/f‘;u’;u:é_jbo/fﬂéu&:f‘ _9

Prove that the measure of a central angle of a minor arc of a circle, 1s double that of the angle

subtended by the corresponding major arc.
OR

Prove that perpendicular from the centre of a
circle on a chord bisects it.

_%b/ﬂ”({u"})’f{.:’:}(fl/ﬁ-}r/'ié—/f'}/é&:ﬁ
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